- poly

Poly Studio Display Mounting Kit

(@) M8 x 50 | .
4)M8 x 25 .
e (4)M6 x50 | ‘ |

(4) M8 Lock Washer | AMBX25 (B)M3x8
@) M6 x12

(24) Flat Washer

(10) M6 Lock Washer

Top of Display

Haut de I'écran

Display, unten

Parte superior de la pantalla
Parte superiore del display
Parte superior da tela
Gora ekranu

Kijelzé teteje

Toppen av displayet
TARTLADLEER
taZgo] e
ERREINER

FETERIEER

e (2) M6 x 12 Screw

SETUP SHEET

(4) M3 x 6 Screw
1601-23256-001

Horizontal Display
Mount Bracket
1342-86035-001

CN
1601-68586-001 S, (4) M6 External Tooth

Lock Washer
1602-86044-001

(2) Corner Display
Mount Bracket
1342-86036-001
(2) Vertical Display
Mount Bracket
1342-86037-001

1725-85993-002A



o VESA Mounting Options

600mm
500mm
400mm
300mm 600mm
500mm
200mm 400mm
200mm 300mm
200mm

(2) M6 External Tooth
Lock Washer
1602-86044-001

(2) M6 x 12 Screw
1601-68586-001

Attach the Poly Studio
mounting kit assembly
to the display using the
appropriate screws and
washers for your display.

Poly Studio Mounting Kit Setup Sheet



Bottom of Display

Bas de I'écran Parte inferiore del display ~ Kijelz6 alja A Z o] skt
Display, oben Parte inferior da tela Bunnen av displayet ETREES
Parte inferior de la pantalla Dot ekranu TARATLADTER BE RIS

T (4) M3x6 Screw
1601-23256-001

Bottom Display
Mount Bracket
1342-86038-001

(4) M3 x 6 Screw
1601-23256-001

Horizontal Display
Mount Bracket
1342-86035-001

Poly Studio Mounting Kit Setup Sheet

(2) Vertical Display
Mount Bracket
1342-86037-001

(2) M6 x 12 Screw
1601-68586-001

@

~

~
~o_ )
Ql(/%/ﬂ *

1

(2) Corner Display
Mount Bracket
1342-86036-001



e VESA Mounting Options

600mm
500mm
400mm
300mm 600mm
500mm
200mm 400mm
200mm 300mm
200mm

(2) M6 External Tooth
Lock Washer
1602-86044-001

(2) M6 x 12 Screw
1601-68586-001

Attach the Poly Studio 0
mounting kit assembly
to the display using the

appropriate screws and
washers for your display. o
O
I ®

© 2019 Plantronics, Inc. All rights reserved. Poly, the propeller design, and the Poly logo are trademarks of Plantronics, Inc. All other trademarks are the property of their respective owners.

Poly Studio Mounting Kit Setup Sheet

Product Documentation

Documentation du produit
Documentacion del producto
Documentacéo do produto
Produktdokumentation
Documentazione del prodotto
Produktdokumentasjon
Termékdokumentacid

Dokumentacja produktu

JoKkymeHTaumA npoagyKTa

®WE a7l

7 i SR www.polycom.com/support
E RS

AE AEA






